
MATHS

BOOKS - KC SINHA MATHS (HINGLISH)

GP - FOR BOARDS

Solved Examples

1. Find the 15th term of the G.P. 

Watch Video Solution

, , , ……
3

2

3

4

3

8

2. Which term of the G.P. 5,20,80,….,5120 is 1280`?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FFMOqs82EWkY
https://dl.doubtnut.com/l/_Ae0yCh4j0S0z


3. How many terms are there in the G.P. ?

Watch Video Solution

2, 2√2, 4, ...128

4. The fifth term of a G.P. is 81 whereas its second term is 24. Find

the
series and sum of its first eight terms.

Watch Video Solution

5. The seventh term of a GL.P. is 8 times the fourth term and the

term is
48. Find the G.P.

Watch Video Solution

6. The first term of a G.P. is 1. The sum of the third and fifth terms is

90. Find the common ratio of the G.P.

https://dl.doubtnut.com/l/_Et4FuBguzfh3
https://dl.doubtnut.com/l/_DXiHigNqyAzZ
https://dl.doubtnut.com/l/_qQIcUy7EypcL
https://dl.doubtnut.com/l/_DivjoWB1f0CD


Watch Video Solution

7. The third term of a G.P. is 3. Find the product of its first five terms.

Watch Video Solution

8. If the first and the nth terms of a G.P., are 
 respectively,

and if 
is hte product of the first 
terms prove that 

Watch Video Solution

aandb,

P n P 2 = (ab)n.

9. If a,b,c, be the pth,qth nd rth terms respectively of a Geometric

progression, and a,b,cgt0 then show that:

Watch Video Solution

(q − r)loga + (r − p)log b + (p − q)log c = 0

https://dl.doubtnut.com/l/_DivjoWB1f0CD
https://dl.doubtnut.com/l/_QmprHdu3pnUp
https://dl.doubtnut.com/l/_WuO2rkLSyJmk
https://dl.doubtnut.com/l/_76oVcGyc05Gi


10. In a finite G.P. the product of the terms equidistant from the

beginning and the end is always same and equal to the product of

first and
last term.

Watch Video Solution

11. If the product of three numbers in G.P. be 216 and their sum sum

is 19, find the numbers.

Watch Video Solution

12. If the continued product of three numbers in G.P. is 216 and the

sum of
their products in pairs is 156, find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_s779tW4hMl3t
https://dl.doubtnut.com/l/_zo4ZoBGjNgJr
https://dl.doubtnut.com/l/_CkgYDrMYMyTR


13. The sum of three numbers in G.P. is 21 and the sum of their

squares is
189. Find the numbers.

Watch Video Solution

14. The sum of first three terms of a G.P. is 
and their product is

1. Find the common
ratio and the terms.

Watch Video Solution

39

10

15. Find four numbers
 forming a geometric progression in which

the third term is greater than the
 first term by 9, and the second

term is greater than the 
by 18.

Watch Video Solution

4th

https://dl.doubtnut.com/l/_bBrOewBdCAS5
https://dl.doubtnut.com/l/_TmAkGoU7VSUW
https://dl.doubtnut.com/l/_GiTIPnwBuWdU


16. A number consists of three digits in  The sum of unit's

digit and hundred's digit exceeds twice the ten's digit by . The sum

of the hundred's digit and ten's digit is two third of the sum of the

ten's and unit's digits. Find the numbers

Watch Video Solution

G. P .

1

17. In a set of four numbers, the first three are in GP & the last three

are in AP, with common difference 6. If the first number is the same

as the fourth, find the four numbers.

Watch Video Solution

18. Find the terms

Watch Video Solution

1 + 1/2 + + + … → n
1

4

1

8

https://dl.doubtnut.com/l/_5hRsxZX3BHBK
https://dl.doubtnut.com/l/_hS8R6oXjzEJu
https://dl.doubtnut.com/l/_8nxQHhBNlnwY
https://dl.doubtnut.com/l/_rL0FTXZ0rsIl


19. Find the sum of n terms of the series

Watch Video Solution

(a + b) + (a2 + 2b) + (a2 + 3b) + .... .

20. Find the sum of n term so the G.P.  ………Also find

the 8th term of the G.P.

Watch Video Solution

√7, √21, 3√7

21. Find the sum to n
terms of the sequence, 8, 88, 888, 8888 . . . .

Watch Video Solution

22. How many terms of the series

must be taken to make the sum1 + 3 + 32 + 33 + 3 + .... + 3n− 1

https://dl.doubtnut.com/l/_rL0FTXZ0rsIl
https://dl.doubtnut.com/l/_jjQyuPL8VJB5
https://dl.doubtnut.com/l/_ql7XQ69tsPLX
https://dl.doubtnut.com/l/_sWLuMwQx9KJy


equal to 3280.

Watch Video Solution

23. Find the value off 

Watch Video Solution

10

∑
k1

(2 + 3k)

24. Evaluate: 

Watch Video Solution

n

∑
r= 1

(3r − 2r)

25. If  be respectively the sums of n, 2n and 3n terms of a

G.P., prove that .

Watch Video Solution

S1, S2, S3

S1(S3 − S2) = (S2 − S1)2

https://dl.doubtnut.com/l/_sWLuMwQx9KJy
https://dl.doubtnut.com/l/_yDE9yej0zPvg
https://dl.doubtnut.com/l/_TyjQdDZXPbWc
https://dl.doubtnut.com/l/_6j8R411Vy5jI
https://dl.doubtnut.com/l/_0ljYHAEnes5s


26. If 
 is a function satisfying 
 for all 


 such that 
 and 
 find the value

of 
.

Watch Video Solution

f f(x + y) = f(x) × f(y)

x, y ∈ N f(1) = 3
n

∑
x= 1

f(x) = 120,

n

27. If a,b,c,d be in G.P. show that

Watch Video Solution

(b − c)2 + (c − a)2 + (d − b)2 = (a − d)2.

28. If a,b,c,d be in G.P. show that

Watch Video Solution

(a2 + b2 + c2)(b2 + c2 + d2) = (ab + bc + cd)2

https://dl.doubtnut.com/l/_0ljYHAEnes5s
https://dl.doubtnut.com/l/_s5P6tSLmSnWg
https://dl.doubtnut.com/l/_ytMPC2Zla6Pl


29. If  are in G.P. and , then (a)  (b)

 (c)  (d) none of these

Watch Video Solution

x, y, z ax = by = cz log ba = loga c

logc b = loga c logb a = logc b

30. If then show that a, b, c

and d are in G.P.

Watch Video Solution

= = (x ≠ 0),
a + bx

a − bx

b + cx

b − cx

c + dx

c − dx

31. If 
 are different real numbers such that: 


 ,

then show that 
and 
are in G.P.

Watch Video Solution

a,  b,  c,  d and p

(a2 + b2 + c2)pI2 − 2(ab + bc + cd)p + (b2 + c2 + d2) ≤ 0

a,  b,  c d

https://dl.doubtnut.com/l/_EbqGnwKy8MlK
https://dl.doubtnut.com/l/_ph82u3iXowkO
https://dl.doubtnut.com/l/_P7PDOiTk4EaY


32. Let  are roots of equation  and  are

roots of equation  If  (taken in that

order) are in geometric progression then  is equal to (A) 

(B)  (C)  (D) 

Watch Video Solution

a, b x2 − 3x + p = 0 c, d

x2 − 12x + q = 0. a, b, c, d

q + p

q − p

5

7
15

17

17

15

7

5

33. If p, q, r are in
 G.P. and the equations, 
 and 


have a common root, then show that 
, 
 ,

are in A.P.

Watch Video Solution

px2 + 2qx + r = 0

dx
2 + 2ex + f = 0

d

p

e

q

f

r

34. What will Rs 500 amounts to in 10 years after its
 deposit in a

bank which pays annual interest rate of 10% compounded annually?

Watch Video Solution

https://dl.doubtnut.com/l/_egjhyj2geX08
https://dl.doubtnut.com/l/_CjYwXYSt2r6W
https://dl.doubtnut.com/l/_x5jK3etJ1oiv


35. A manufacturer reckons that the value of a machine, which costs

him Rs.
 15625, will depreciate each year by 20%. Find the estimated

value at the end
of 5 years.

Watch Video Solution

36. A person writes a letter to four of his friends. He
asks each one

of them to copy the letter and mail to four different persons
 with

instruction that they move the chain similarly. Assuming that the

chain
is not broken and that it costs 50 paise

Watch Video Solution

37. Insert seven geometric means between 2 and 162.

Watch Video Solution

https://dl.doubtnut.com/l/_x5jK3etJ1oiv
https://dl.doubtnut.com/l/_e8WEtKWAq6LT
https://dl.doubtnut.com/l/_qZ1X7jNpdL5s
https://dl.doubtnut.com/l/_j01YNoNLIeog


38. Find the value of 
so that 
may be the geometric

mean between 

Watch Video Solution

n
an+ 1 + bn+ 1

an + bn

aandb.

39. If  are in AP, then  and if 

are in HP. then . Numbers  are

Watch Video Solution

a, x, y, z, b x + y + z = 15 a, x, y, z, b

+ + =
1

x

1

y

1

z

5

3
a, b

40. If  prove that 

Watch Video Solution

x > 0 x + ≥ 2
1

x

https://dl.doubtnut.com/l/_j01YNoNLIeog
https://dl.doubtnut.com/l/_LKKm8dkmfQXs
https://dl.doubtnut.com/l/_kSFjpCQNqkai
https://dl.doubtnut.com/l/_xTBoyPOwMs8y


41. Prove that the product 
 geometric means between two

quantities is equal to the nth power of 
geometric mean of those

two quantities.

Watch Video Solution

n

a

42. If the A.M. of two positive numbers 
 is twice their

geometric mean. Prove that : 

Watch Video Solution

aandb(a > b)

a : b = (2 + √3) : (2 − √3).

43. If 
 are in A.P. and 
 are in G.P., then show that 

Watch Video Solution

a, b, c, d x, y, z

xb− c .
y
c−a .

z
a− b

= 1.

https://dl.doubtnut.com/l/_KpWb4vdlFcIJ
https://dl.doubtnut.com/l/_xZ5uElx8aQLF
https://dl.doubtnut.com/l/_Jejx7mLuReK6


44. If the pth, qth, rth, and sth terms of an A.P. are in G.P., t hen


are in
a. A.P. b. G.P. c. H.P. d. none of these

Watch Video Solution

p − q, q − r, r − s

45. If pth, qth and rth terms of an A.P. and G.P. are both a,b and c

respectively, show that 

Watch Video Solution

ab− c. bc−a. ca− b = 1

46. If 
 are in A.P., prove that the following are also in A.P.



 (ii) 
 (iii) 


 (iv)


 (v) 


 (vi) 

a, b, c

, , ,
1

bc

1

ca

1

ab
b + c, c + a, a + b

a( + ), b( + ), c( + )
1

b

1

c

1

c

1

a

1

a

1

b

a2(b + c), b2(c + a), c2(a + b)

{(c + c)2 − a2}, {(c + a)2 − b2}, {(a + b)2 − c2}

, ,
1

√b + √c

1

√c + √a

1

√a + √b

https://dl.doubtnut.com/l/_ah3rO0Enq9Vo
https://dl.doubtnut.com/l/_VajHoZ4z4PSl
https://dl.doubtnut.com/l/_L2sRnyjmPxu0


Watch Video Solution

47. If and a,b,c are in G.P. show that  are in

A.P.

Watch Video Solution

ax = by = cz , ,
1

x

1

y

1

z

48. If reciprocals of  are in A.P., show that x,y,z are

in G.P.

Watch Video Solution

, y,
x + y

2

y + z

2

49. If distinct numbers x,y,z are in G.P. and 

are in A.P., prove that .

Watch Video Solution

, ,
1

x + a

1

y + a

1

z + a

a = y

https://dl.doubtnut.com/l/_L2sRnyjmPxu0
https://dl.doubtnut.com/l/_wSWvGJcnRDUX
https://dl.doubtnut.com/l/_iKxrnFpG7Bd1
https://dl.doubtnut.com/l/_cJKE0Tw9tS02


Exercise

50. If a, b, c are in A.P., b, c, d are in G.P. and 
 are in A.P.

prove that a, c, e are in G.P.

Watch Video Solution

, ,
1

c

1

d

1

e

51. If a, b, c are in A.P., b, c, d are in G.P. and 
 are in A.P.

prove that a, c, e are in G.P.

Watch Video Solution

, ,
1

c

1

d

1

e

52. If three positive numbers  are in 

also in  then

Watch Video Solution

a, b, c A. P . and , ,
1

a2

1

b2

1

c2

A. P .

https://dl.doubtnut.com/l/_tBF2V4nI924p
https://dl.doubtnut.com/l/_0byuaEAe5Uaj
https://dl.doubtnut.com/l/_fPrkNa0sM0cJ


1. Find the 10th term of the G.P. 5, 25, 125, ... . Also find its nth term.

Watch Video Solution

2. Find the 8th term of the G.P. 0.3,0.06,0.012,…..

Watch Video Solution

3. Fidnteh 20th and nth term of the G.P. 

Watch Video Solution

, , , …. .
5

2

5

4

5

8

4. Find the 
 term of a
 G.P. whose 8th term is 192 and the

common ratio is 2.

Watch Video Solution

12th

https://dl.doubtnut.com/l/_ooEyRR5hKSs7
https://dl.doubtnut.com/l/_95AMQ3WPx2ga
https://dl.doubtnut.com/l/_uQArw2Zy57kN
https://dl.doubtnut.com/l/_QBD6DUzOK2qm


5. Which term of the geometric sequence:

Watch Video Solution

2√3, 6, 6√3, …. . is1458?

6. Which term of the G.P.: 

Watch Video Solution

 √3, 3, 3, √3, is 729?

7. Which
term of the G.P., 2, 8, 32, . . . up to n terms in 131072?

Watch Video Solution

8. Which term of the progression 0.004,0.02,0.1, is 125.?

Watch Video Solution

https://dl.doubtnut.com/l/_rDeVuADrRtmM
https://dl.doubtnut.com/l/_6nNBHuq905qx
https://dl.doubtnut.com/l/_FFLvTF8nyLsJ
https://dl.doubtnut.com/l/_lcvvyXEscyPs


9. Which term of the G.P.: 

Watch Video Solution

, , is ?
1

3

1

9

1

27

1

19683

10. Which term of the geometric sequence: 

Watch Video Solution

, − , 1, …. . Is64?
1

4

1

2

11. How many terms are there in the G.JP.

Watch Video Solution

0.03, 0.06, 0.12, …. . , 3.84?

12. If 5th nd 8th of a G.P. be 48 and 384 respectively. Find the G.P. if

term of G.P. are real numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_ExvQp4KNXE1N
https://dl.doubtnut.com/l/_Nf0RNdFfoDDg
https://dl.doubtnut.com/l/_ky9LqHK0cdkM
https://dl.doubtnut.com/l/_Iz2N60qY3RjN


13. If the 6th and 10th terms of a G.P. are  respectively.

Find the G.P. if its terms are real numbers.

Watch Video Solution

and
1

16

1

256

14. If the  terms of a  be  respectively,

prove that 

Watch Video Solution

pth, qth, rth G. P . a, b, c

aq−rbr−pcp−q = 1

15. If 5th, 8th, and 11th terms of a G.P.
 are 
 respectively,

prove that 

Watch Video Solution

p,  q and s

q2 = ps.

https://dl.doubtnut.com/l/_Iz2N60qY3RjN
https://dl.doubtnut.com/l/_6Zb3ch7o87Gn
https://dl.doubtnut.com/l/_7dOMeczN7b5F
https://dl.doubtnut.com/l/_TVUstM9e4elj


16. If the 
, 
and 
terms of a G.P. are x, y and z,
 respectively.

Prove that x, y, z are in G.P.

Watch Video Solution

4th 10th 16th

17. The 
term of a
G.P. is square of its second term, and the first

term is 
. Determine its 
term.

Watch Video Solution

4th

3 7th

18. if a G.P (p+q)th term = m and (p-q) th term = n , then find its p th

term

Watch Video Solution

https://dl.doubtnut.com/l/_Bn2dRgre0aev
https://dl.doubtnut.com/l/_5BHnUWmoItdD
https://dl.doubtnut.com/l/_hLaOeYAh7olj


19. The product of three consecutive terms of a GP Is -64 and the

first term is four times the third. Find the terms.

Watch Video Solution

20. Find a G.P. for
which sum of the first two terms is 
and the

fifth term is 4 times the third
term.

Watch Video Solution

−  4

21. Find three numbers in G.P. whose sum is 13 and the sum of

whose squares
is 91.

Watch Video Solution

https://dl.doubtnut.com/l/_Du2LmPPmtggH
https://dl.doubtnut.com/l/_9FOuK6QXeqIY
https://dl.doubtnut.com/l/_eBd8uM3AGT5t


22. The sum of first three terms of a G.P. is 13/12 and their product is

-1. Find the G.P.

Watch Video Solution

23. The sum of first
 three terms of a G.P. is 16 and the sum of the

next three terms is 128.
 Determine the first term, the common ratio

and the sum to n terms of the GP.

Watch Video Solution

24. The first term of a G.P. is 1. The sum of the third
 term and fifth

term is 90. Find the common ratio of G.P.

Watch Video Solution

https://dl.doubtnut.com/l/_KrBmzVefseVV
https://dl.doubtnut.com/l/_CSAFh5GsaPCA
https://dl.doubtnut.com/l/_QJYRPbrsXGY7


25. Three numbers whose sum is 15 are in A.P. If 1,4,19 be added to

them respectively the resulting numbers re in G.P. Find the

numbers.

Watch Video Solution

26. The sum of three numbers in GP. Is 56. If we subtract 1, 7, 21 from

these numbers in that order, we obtain an arithmetic progression.

Find the
numbers.

Watch Video Solution

27. Find three numbers in G.P. whose sum is 52 and the sum of

whose
products i pairs is 624.

Watch Video Solution

https://dl.doubtnut.com/l/_wcijmO0aHVAt
https://dl.doubtnut.com/l/_ez4zqFT0O4PP
https://dl.doubtnut.com/l/_I6dzIJCl659o
https://dl.doubtnut.com/l/_ndDkW0LeKN6Y


28. From thre numbers in G.P., other three numbers in G.P. are

subtracted and the remainder are also found to be in G.P. Prove

that the three sequences have the same common ratio.

Watch Video Solution

29. Find the sum of indicated terms of each of the following

geometric progression: 1,2,4,8,…….,12 terms

Watch Video Solution

30. Find the sum of indicated terms of each of the following

geometric progression:  terms

Watch Video Solution

1, , , , …. , n
1

3

1

9

1

27

https://dl.doubtnut.com/l/_ndDkW0LeKN6Y
https://dl.doubtnut.com/l/_MnarF1A1ioBF
https://dl.doubtnut.com/l/_eDnuLxwuDzF0


31. Find the
 sum to indicated number of terms in each of the

geometric progressions : 0.15, 0.015, 0.0015, . . . , 20 terms.

Watch Video Solution

32. Find the sum of indicated terms of each of the following

geometric progression:  terms

Watch Video Solution

1, − , , − , . . , n
1

2

1

4

1

8

33. Find the sum of the following geometric progression: 1,3,9,27, to

8
terms.

Watch Video Solution

https://dl.doubtnut.com/l/_PMHuDALWCTTS
https://dl.doubtnut.com/l/_SkUuT4Qubyhr
https://dl.doubtnut.com/l/_6MRGbynnD1Rv


34. Find the sum of indicated terms of each of the following

geometric progression: 1,-3,9,-27, ….9 terms

Watch Video Solution

35. Find the sum of indicated terms of each of the following

geometric progression: 

Watch Video Solution

x2, x4, x6, …, nterms(x ≠ ± 1)

36. Find the
 sum to indicated number of terms in each of the

geometric progressions : 
terms 

Watch Video Solution

1, − a, a2 − a3, ...n (if a ≠ - 1)

https://dl.doubtnut.com/l/_SdGuRT7Xkxhu
https://dl.doubtnut.com/l/_9xBN6un7kLfb
https://dl.doubtnut.com/l/_3PMuJp2glN47


37. Find the sum of indicated terms of each of the following

geometric progression:  terms and 5 terms

Watch Video Solution

1 + + + …. , n
2

3
4
9

38. A G.P. has first term 729 and 7th term 64. Find the sum of its first

7 terms.

Watch Video Solution

39. Find the sum of the products of the
corresponding terms of the

sequences 2,4, 8, 16, 32 and 128, 32, 8, 2, 
.

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_mWIEOCTKPznU
https://dl.doubtnut.com/l/_vlW9BLW5nKzY
https://dl.doubtnut.com/l/_kpLzPMGJ2n1M


40. Find the sum to n terms of the following series:

Watch Video Solution

(x + )
2

+ (x2 + )
2

+ (x3 + )
2

+ (x4 + )
2

+ .........
1

x

1

x2

1

x3

1

x4

41. Evaluate : 

Watch Video Solution

n

∑
k= 1

(2k + 3k− 1)

42. How many terms of the series  must be

taken to make 511?

Watch Video Solution

1 + 2 + 22 + …. .

https://dl.doubtnut.com/l/_y7AVOyOzyQBw
https://dl.doubtnut.com/l/_c5MWMvmp2Xdx
https://dl.doubtnut.com/l/_IBv9fd7TkgTW


43. How many terms of the G.P. 
 be taken together to

make 

Watch Video Solution

3, 3/2, 3/4,

?
3069

512

44. The sum of some terms of G. P.
 is 315 whose first term and the

common ratio are 5 and 2, respectively. Find
the last term and the

number of terms.

Watch Video Solution

45. A G.P. consists of an even
number of terms. If the sum of all the

terms is 5 times the sum of terms
occupying odd places, then find

its common ratio.

Watch Video Solution

https://dl.doubtnut.com/l/_VNaXdv7ZU39E
https://dl.doubtnut.com/l/_NMghDKISN2G1
https://dl.doubtnut.com/l/_VywVrToM4RkM
https://dl.doubtnut.com/l/_CkOpIyzkOKjq


46. 2. (i) Sum upto n terms the series 6 + 66 + 666 +...

Watch Video Solution

47. Find the sum of the following series:

Watch Video Solution

9 + 99 + 999 + →  n terms

48. The sum of the following series  to n

term is:

Watch Video Solution

4 + 44 + 444 + .......... .

49. Find the sum of the following series up to n terms:
 (i)


 (ii) 5  +  55  +  555  +  . . .

https://dl.doubtnut.com/l/_CkOpIyzkOKjq
https://dl.doubtnut.com/l/_PtxGAdy6MPxV
https://dl.doubtnut.com/l/_AcrcAvmU9z37
https://dl.doubtnut.com/l/_tvNhNjCJr5gF


Watch Video Solution

. 6  + . 66  + . 666  + . . .

50. Evaluate upto 

Watch Video Solution

7 + 77 + 777 + ...... n

51. Find the sum of the following series:

Watch Video Solution

0. 6 + 0. 66 + 0. 666 →  n terms

52. Find the sum of the following series:

Watch Video Solution

0. 5 + 0. 55 + 0. 555 + →  n terms

https://dl.doubtnut.com/l/_tvNhNjCJr5gF
https://dl.doubtnut.com/l/_BwCmUvGW1Klg
https://dl.doubtnut.com/l/_6eiElFPvOggO
https://dl.doubtnut.com/l/_edAVzFuHtwEt


53. Show that the ratio of the sum of first  terms of a  to the

sum of terms from  to  terms is 

Watch Video Solution

n G. P .

(n + 1) (2n)
1

rn

54. if  is the sum ,  the product and  the sum of reciprocals of 

 terms in  prove that 

Watch Video Solution

S P R

n G. P . P 2Rn = Sn

55. If a,b,c,d………are in G.P., then show that

 are in G.P.

Watch Video Solution

(a + b)2, (b + c)2, (c + d)2

https://dl.doubtnut.com/l/_I20matm4b3LS
https://dl.doubtnut.com/l/_mF51rN7slhNm
https://dl.doubtnut.com/l/_VwxAsQjIDCaR


56. If a,b,c,d………are in G.P., then show that

 are in G.P.

Watch Video Solution

(a − b)2, (b − c)2, (c − d)2

57. If  are in , prove that  are

also in 

Watch Video Solution

a, b, c G. P . a2 + b2, ab + bc, b2 + c2

G. P

58. If 
 are in G.P. prove that:



 are in
 G.P.



 are in
 G.P.



 are in
 G.P.

Watch Video Solution

a, b, c, d

(a2 + b2), (b2 + c2), (c2 + d2)

(a2 − b2), (b2 − c2), (c2 − d2)

, ,
1

a2 + b2

1

b2 + c2

1

c2 + d2

(a2 + b2 + c2), (ab + bc + cd), (b2 + c2 + d2)

https://dl.doubtnut.com/l/_ObC1VFV15PrX
https://dl.doubtnut.com/l/_fLmSu8WcvbRu
https://dl.doubtnut.com/l/_8UHL5QSANzN5


59. If 
 are in G.P. prove that 

are in G.P.

Watch Video Solution

a, b, c (an + bn), (bn + cn), (cn + dn)

60. If a,b,c are in G.P., then show that 

Watch Video Solution

a(b − c)2 = c(a − b)2

61. If a,b,c are in G.P., then show that :

Watch Video Solution

(a2 − b2)(b2 + c2) = (b2 − c2)(a2 + b2)

62. If a,b,c are in G.P., then show that :  are in A.P.loga, log b, log c

https://dl.doubtnut.com/l/_8UHL5QSANzN5
https://dl.doubtnut.com/l/_kc8r4DbfTh68
https://dl.doubtnut.com/l/_TuqcAuBWqltm
https://dl.doubtnut.com/l/_CPMj2xP7cBQP
https://dl.doubtnut.com/l/_8UYiVdEpRKuw


Watch Video Solution

63. If a,b,c are in G.P., then show that : 

Watch Video Solution

a(b2 + c2) = c(a2 + b2)

64. For what values of x, the numbers  are in G.P

Watch Video Solution

− , x, −
2

7

7
2

65. Show that the
 products of the corresponding terms of the

sequences a, 
and 
form a

G.P, and find the common ratio.

Watch Video Solution

ar, ar2, .. ., arn− 1 A, AR, AR2, .. ., ARn− 1,

https://dl.doubtnut.com/l/_8UYiVdEpRKuw
https://dl.doubtnut.com/l/_jdwftjWMiwxS
https://dl.doubtnut.com/l/_fhVRpG1sS9YG
https://dl.doubtnut.com/l/_YwEVMioYJTh3


66. A person has 2 parents, 4 grandparents, 8 great grand parents,

and so
 on. Find the number of his ancestors during the ten

generations preceding his
one.

Watch Video Solution

67. The number of bacteria in a certain culture doubles every hour.

If
there were 30 bacteria present in the culture originally, how many

bacteria
will be present at the end of 2nd hour, 4th hour and
 nth

hour?

Watch Video Solution

68. A man deposited Rs 10000 in a
 bank at the rate of 5% simple

interest annually. Find the amount in 
 year since he deposited

the amount and also
calculate the total amount after 20 years.

15th

https://dl.doubtnut.com/l/_Yz0puRblwOAv
https://dl.doubtnut.com/l/_oVPq6mqfNtlE
https://dl.doubtnut.com/l/_8L2hRZbQBsCM


Watch Video Solution

69. Shamshad Ali buys a scooter for Rs. 2200. He pays Rs. 4000 cash

and
 agrees to pay the balance in annual instalments of Rs. 1000

plus 10% interest
on the unpaid amount. How much the scooter will

cost him?

Watch Video Solution

70. A farmer buys a used tractor for Rs. 12000. He pays Rs. 6000

cash and
agrees to pay the balance in annual instalments of Rs. 500

plus 12% interest
 on the unpaid amount. How match the tractor

cost him?

Watch Video Solution

https://dl.doubtnut.com/l/_8L2hRZbQBsCM
https://dl.doubtnut.com/l/_oZY2slmXLpe0
https://dl.doubtnut.com/l/_pCdYWwlgeJp7


71. Insert 5 geometric means between 16 and 

Watch Video Solution

.
1

4

72. Insert two number between 3 and 81 so that the
 resulting

sequence is G.P.

Watch Video Solution

73. Insert three
 numbers between 1 and 256 so that the resulting

sequence is a G.P.

Watch Video Solution

74. Insert six G.M.\'s between 

Watch Video Solution

and − 5( )
8

27

1

16

https://dl.doubtnut.com/l/_SP2V8Cu2oSIo
https://dl.doubtnut.com/l/_Hxklh68HkR3E
https://dl.doubtnut.com/l/_hyBLqXUDnvmm
https://dl.doubtnut.com/l/_ENAerqzCTOB9


Watch Video Solution

75. The sum of two numbers is 6 times their geometric
means, show

that numbers are in the ratio 
.

Watch Video Solution

(3 + 2√2) : (3 − 2√2)

76. If odd number of G.M.\'s are inserted between two given

quantities a and b, show that the middle G.M.= 

Watch Video Solution

√ab

77. If A.M. and GM.
 of two positive numbers a and b are 10 and 8,

respectively find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_ENAerqzCTOB9
https://dl.doubtnut.com/l/_YxfS3iZkxxOM
https://dl.doubtnut.com/l/_jes1U7JdAIZv
https://dl.doubtnut.com/l/_0MX8DMkazTjh
https://dl.doubtnut.com/l/_sWcTNtQ5ug0a


78. If A and G be A.M. and GM., respectively between two
 positive

numbers, prove that the numbers are 
.

Watch Video Solution

A ± √(A + G)(A − G)

79. If A.M. and G.M. between two numbers is in the ratio 
then

prove that the numbers are in the ratio

Watch Video Solution

m : n

(m + √m2 − n2) :√(m − m2 − n2).

80. If one G.M., G and two A.M.\'s p and q be inserted between two

given quantities, show that .

Watch Video Solution

G2 = (2p − q)(2q − p)

https://dl.doubtnut.com/l/_sWcTNtQ5ug0a
https://dl.doubtnut.com/l/_FmpRHK7qm5oO
https://dl.doubtnut.com/l/_YI4ENvWRIshc


81. If one A.M. A and two G.M.\'s p and q be inserted between two

given numbers, shwo that 

Watch Video Solution

p2q + = 2A
q2

p

82. If a is the A.M. between  the G.M. between a and c,

then show that  are in A.P.

Watch Video Solution

b and c, b

, ,
1

a

1

c

1

b

83. if  are the  and  terms of both an  and

also of a  then 

Watch Video Solution

a, b, c pth, qth rth A. P .

G. P . ab− c ⋅ bc−a ⋅ ca− b

https://dl.doubtnut.com/l/_FfrnlKPmsmI0
https://dl.doubtnut.com/l/_z55lVXJmjPqb
https://dl.doubtnut.com/l/_9OjEhgGhdM4H


84. An A.P. and a G.P. of positive terms have the same first term and

the sum of their first, second and third terms are respectively, 

and 2. Show that the sum of their fourth terms is 

Watch Video Solution

1,
1

2
19

2

85. Let  is a fixed real number and

. If  are in A.P., show that 

are in A.P.

Watch Video Solution

a(a ≠ 0)

= =
a − x

px

a − y

qy

a − z

rz
p, q, r , ,

1

x

1

y

1

z

86. 29. If  are in  and  prove that 

are in 

Watch Video Solution

a, b, c G. P . a = b = c
1
x

1
y

1
z x, y, z

A. P .

https://dl.doubtnut.com/l/_402gvp9flAB1
https://dl.doubtnut.com/l/_xNWs8IgEGc7P
https://dl.doubtnut.com/l/_g1JSltMn77gj
https://dl.doubtnut.com/l/_ptwcQlrRXTX3


87. If a,b,c,d be in G.P. and , prove that 

 are in A.P.

Watch Video Solution

ax = by = cz = dw

, , ,
1

x

1

y

1

z

1

w

88. If reciprocals of  are in A.P., prove that

 are in G.P.

Watch Video Solution

(y − x), 2(y − a), (y − z)

x − a, y − a, z − a

89. (c) If a series of numbers be in G.P., show that their logarithms

are in A.P

Watch Video Solution

https://dl.doubtnut.com/l/_ptwcQlrRXTX3
https://dl.doubtnut.com/l/_ieQR0Wyx4DeT
https://dl.doubtnut.com/l/_JKMxZW39wzOU


90. If 
 are in A.P. 
 are in H.P., and 

are in G.P., then 
is equal to
 
b. 
c. 
d. 

Watch Video Solution

a, b, andc p, q, andr ap, bq, andcr

+
p

r

r

p
−

a

c

c

a
+

a

c

c

a
+

b

q

q

b

−
b

q

q

b

91.  are in  are in  and  are in 

then:

Watch Video Solution

a, b, x A. P . , a, b, y G. P . a, b, z H. P .

92. If x,1,z are in A.P. x,2,z are in G.P., show thast  are in A.P.

Watch Video Solution

, ,
1

x

1

4

1

z

https://dl.doubtnut.com/l/_eDZufMPEHqFU
https://dl.doubtnut.com/l/_TUHNXIuT3Qf3
https://dl.doubtnut.com/l/_qWKBywsGzsVv

